Here is my analog.

1. The development of an acorn from seed, through falling to the ground, into sapling-hood is continuous.

2. To draw a line, to choose a point in this development and say “before this point the thing is not an oak tree, after this point it is an oak tree” is to make an arbitrary choice, a choice for which in the nature of things no good reasons can be given.

Thus 
3. The acorn is, or anyway we had better say it is, an oak tree from the moment of first existence.

After the first step of displaying the analog with the target, Thomson makes her second step by stating the following premise: “It does not follow [in the analog] that acorns are oak trees, or that we had better say that they are.”  Her third step is to draw a conclusion about the target argument:  “[The fetus argument’s] conclusion [that fetuses are persons, or that we had better say that they are] does not follow.”  These three steps complete her own argument from analogy.  

Notice that Thomson does not herself (though some people do) accept the inference in the target argument.  Also, she expects no one to accept the inference in her own analogous argument, and therefore she hopes to convince everyone not to accept the inference in the target argument.  Every argument from analogy refers to both a target argument (which is controversial) and an analogous argument (which is intended to be non-controversial).  Every argument from analogy aims to make the target as non-controversial as the analog.

When you are raising an objection to an argument with an argument from analogy (perhaps this will be useful to you in writing your research paper), use the following steps in making your objection.

Step 1.
Display an analog alongside the target argument.

Step 2.
Point out that the conclusion of the analog does not follow.

Step 3.
Conclude that, probably, the conclusion of the target does not follow.

Likewise when you are identifying another’s argument from analogy, identify it by restating it according to these same three steps.  The diagram of this argument from analogy will always have this simple general form:





The conclusion of the analog does not follow.





Probably, the conclusion of the target argument does not follow.





Notice that step 1 of the process is not a premise.  It is background information.








